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Trigonometry — Joysheet G Name
MAT 145, Spring 2025 — D. Ivansi¢ Covers: 8.1, 8.2 Show all your work!
1. (7pts) Solve the triangle: a = 5, C = 28°, A = 50°. :
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2. {12pts) Solve the triangle: ¢ =9, a = 8, A =563°
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3. (Tpts) Solve the triangle: a =5, b =3, ¢ = 6.

$i3°€ .. Lol Cusecosl-u)= BIEGT
i 735 g5 I

L S
gﬁrGL'S ; 2_9.: s L = fre(e) = 2 Sﬁzﬂ{jH
Gy A = _.;‘!_:,_{_-_-F w9 /'" ?
- 25,910 435

Ba Yo - (53827 4 05 )7

—— —




4. (10pts) A straight bridge over a canyon is 247 meters long, Observed from the ends of
the bridge, the botiom of the canyon has angles of depression 76 and 68°. How high above
the bottom of the canvon is the bridge? (Draw a picture.)
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5. (14pts) Airport B is located 89 miles N36°W from airport A. A plane is 121 miles from
airport B and has position N25°E of airport A. How far is the plane from airport A (draw

a picture)? '
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6. (10pts) Determine the area of the pictured quadrangle. T nd i
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